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3XML�V\XNXU�NH�KDGLUDW $OODK�6:7�\DQJ�WHODK�PHPEHULNDQ�UDKPDW�GDQ�KLGD\DK�1\D��

6HUWD� VKDODZDW� GDQ� VDODP� VHODOX� WHUFXUDK� NHSDGD� 5DVXOXOODK� 0XKDPPDG� 6$:�

EHVHUWD� NHOXDUJDQ\D�� %HUNDW� UDKPDW� GDQ� NHKHQGDN� $OODK� 6:7�� SHQXOLV� GDSDW�

PHQ\HOHVDLNDQ�SHQHOLWLDQ�WXJDV�DNKLU�LQL��7XMXDQ�GDUL�SHQHOLWLDQ�WXJDV�DNKLU�LQL�\DLWX�

XQWXN�PHPHQXKL�VDODK�VDWX�V\DUDW�NHOXOXVDQ�MHQMDQJ�3HQGLGLNDQ�6WUDWD���3URJUDP�

6WXGL�6LVWHP�,QIRUPDVL�)DNXOWDV�5HND\DVD�,QGXVWUL��8QLYHUVLWDV�7HONRP��%DQGXQJ�

'DODP�SHQHOLWLDQ�WXJDV�DNKLU�LQL��SHQXOLV�EDQ\DN�PHQGDSDWNDQ�ELPELQJDQ��NULWLN��

VDUDQ��GDQ�PRWLYDVL�\DQJ�VDQJDW�EHVDU�GDUL�EHUEDJDL�SLKDN��2OHK�NDUHQD�LWX��SHQXOLV�

PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�

�� %DSDN 0XKDPPDG�<XVXI GDQ� ,EX /DHOD�+LGD\DW \DQJ� WHODK� WXOXV�GDQ� LNKODV�

PHPEHULNDQ�NDVLK�VD\DQJ��EDQWXDQ��GXNXQJDQ��VHPDQJDW��SHUKDWLDQ�GDQ�GR¶D�

�� %DSDN�5DKPDW�)DX]L��6�7���0�7��VHODNX�SHPELPELQJ���7XJDV�$NKLU�\DQJ�WHODK�

PHPEHULNDQ�PDVXNDQ�GDQ�VDUDQ�VHODPD�SHQ\XVXQDQ�WXJDV�DNKLU�

�� %DSDN�,U��$KPDG�0XVQDQV\DK��06F� VHODNX�SHPELPELQJ���7XJDV�$NKLU�\DQJ�

WHODK�PHPEHULNDQ�PDVXNDQ�GDQ�VDUDQ�VHODPD�SHQ\XVXQDQ�WXJDV�DNKLU�

�� %DSDN� 'U�� ,UIDQ� 'DUPDZDQ�� 6�7��� 0�7�� VHODNX� 'RVHQ� :DOL \DQJ� WHODK�

PHPEHULNDQ�PDVXNDQ�GDQ�VDUDQ�

�� %DSDN�5H]D�$SULDQ��6� .RP� VHODNX�SHPELPELQJ�SDGD�SHUXVDKDDQ \DQJ�WHODK�

PHPEDQWX�GDODP�PHPEHULNDQ�ZDNWX��NHVHPSDWDQ��GDQ�SHQFDULDQ�GDWD�VHODPD�

SURVHV�SHQHOLWLDQ�WXJDV�DNKLU�

�� 3LKDN� 37�� /HVWDUL� %DQWHQ� (QHUJL� \DQJ� WHODK� EHUVHGLD� PHQHULPD� XQWXN�

PHODNXNDQ�SHQHOLWLDQ�WXJDV�DNKLU�

3HQXOLV� PHQ\DGDUL� PDVLK� EDQ\DN� NHNXUDQJDQ� GDODP� WXJDV� DNKLU� LQL�� 3HQXOLV�

PHQJKDUDSNDQ�NHNXUDQJDQ�\DQJ� DGD� SDGD� WXJDV� DNKLU� LQL� GDSDW� GLMDGLNDQ�EDKDQ�

SHPEHODMDUDQ�XQWXN�SHQHOLWLDQ�\DQJ�OHELK�EDLN�GL�PDVD�\DQJ�DNDQ�GDWDQJ�


